5 STUDY CONTENTS THAT GET You seLecTED  FREE
1@.Y iV Ry e S epemeee D

selection focused courses. In the industry to get every bit out of the videos

Match The Column - 60 Difficulty Wise MCQs with Solutions

Welcome to our blog on Match The Column, an essential topic in English Language that plays a crucial role in all competitive exams.
Approximately 3 - 4 questions are certain to appear from this topic in the exam, making it imperative for you to grasp the concepts of
Match The Column thoroughly and practice a variety of questions.

Match The Column

Prachice Queshons

[Source: KD Live]

Match The Column Questions - Bank Easy Level
Direction (1 to 20): In the following question, two columns have been provided and each column consists of three sentences

i.e. the column 1 consists of sentences A, Band C whereas the column 2 consists of sentences D, Eand F. A sentence from
column 1 may or may not connect with another sentence from column 2 to make a sentence grammatically and contextually
correct. Each question consists of five options, which shows the possible sequences that can be formed . Find the correct
answer and mark on the respective option provided.

Q:1 Column 1

A) The truth is, women, have struggled long and hard to fit

B) Research depends on the laboratory environment,

C) The government must also expand economic cooperation and connectivity with Bangladesh,

Column 2
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D) into a system designed for men and trained only to recognise men.

E) Now, Doudna herself will be a role model for other little girls.

F) one of our best friends in the neighbourhood.

1.B-E, C-F

2.A-E, B-F

3.A-D, C-F

4.A-F, C-D

5.None of these

Q:2 Column 1

A. And had anticipated the situation much before and went for a lockdown when

B. The health ministry said out of a total 918 cases, 819 were active COVID-19 cases, while 79 people were either cured/ discharged and
one had migrated.

C. Currently 11,493 contacts are under home quarantine while 1,639 contacts have completed 14 days of home quarantine
Column 2

D. We have been pre-emptive and graded in our approach.

E. House-to-house surveillance for contact tracing of positive cases is being done by the health workers in all districts, the department
said.

F. As per the ministry, the total number of cases on Friday stood at 724.

1.A-E

2.B-F

3.C-D

4.A-Fand C-D

5.None of these

Q:3. Column 1

A. China registered the highest rate of economic growth in history,
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B. Govt should establish more power plants in the country

C. Govt is working hard in power sector

Column 2

D. making it a power surplus country.

E. making it a power surplus country, growing at an average rate of 9.5% annually, for over three decades.
F. so that there is no problem of power deficit in the country.

1.A-D, B-E, C-F

2.C-D

3.A-E

4.B-F

5.None of these

Q:4 Column 1

A. With many independent bookstore owners facing

B. the trade group launched the “Boxed Out” campaign, for which a handful of bookstores
C. teamed with an award-winning advertising agency known for “culture hacking

Column 2

D. to dramatize the threats of the pandemic and the growing dominance of Amazon.com.
E. problems all around the country will have windows boarded up and boxes piled up.

F. the direst financial crisis in their lifetimes, the American Booksellers Association.

1.A-D; B-F

2.B-D; A-F

3.A-D; C-E

4.A-F, C-D

5.None of these

Q:5 Column 1
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A. Hot, dry conditions and intense winds across California

B. leading state and federal authorities to urge residents to prepare about

C. Gusty winds in California’s north and extreme heat in its south are creating

Column 2

D. are threatening to reinvigorate what has already been the worst fire season in state history,
E. such conditions that could fan wildfires that began earlier in the summer as well as spark new ones,
F. the National Weather Service to issue a heat advisory for a wide swath of Southern California
1.A-D; B-F

2.B-D; A-F

3.A-D; C-E

4.C-D; B-E

5.None of these

Q:6 Column 1

A. Americans Harvey ] Alter and Charles M Rice, and British scientist Michael Houghton

B. Announcing the prize in Stockholm the Nobel Committee noted that the trio’s

C. Thanks to their discovery, highly sensitive blood tests for the virus are now available
Column 2

D. were awarded the nobel Prize for Medicineor Physiology for the hepatitis C virus.

E. work helped in explaining a major source of blood-borne hepatitis that couldn't be explained by the hepatitis A and B viruses.
F. in many parts of the world, greatly improving global health, the committee said.

1.A-E; B-D

2.B-D; A-F

3.A-F; C-E

4.A-D; B-E

5.None of these
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Q:7 Column 1

A. Crocodiles are large reptiles found in tropical regions of Africa, Asia, the Americas, and Australia.

B. In the wild, crocodiles will clamp down on their prey with their massive jaws,

C. Crocodiles are carnivores, which mean they eat only meat, In the wild

Column 2

D. They cannot chew or break off small pieces of food like other animals.

E. they feast on fish, birds, frogs, and crustaceans. At the zoo, they eat small animals that have already been killed for them,
F. They are members of the order Crocodilia, which also includes caimans, gharials, and alligators.

1.A-E; B-D

2.B-D; A-F

3.A-F; C-E

4. A-F; C-F

5.None of these

Q:8 Column 1

A. In Monday'’s guidance, CDC said there was evidence that people with COVID-19 possibly infected others

B. U.S. Centers for Disease Control and Prevention (CDC) said Covid-19 can spread through virus lingering in the air, sometimes for
hours

C. The CDC guidance comes weeks after the agency published

Column 2

D. acknowledging concerns widely voiced by public health experts about the airborne transmission of the virus.
E. who were more than 6 feet away, within enclosed spaces with poor ventilation.

F. and then took down a similar warning, sparking debate over how the virus spreads.

1.A-D; C-E
2.A-E; C-D
3.B-D; C-F
5
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4.B-E; A-F

5.None of these

Q:9 Column 1

A. The Ministry of Defence (MoD) is preparing to acquire 30 General Atomics MQ-9B Guardian drones from the United States.

B. Short of an India-China fighting war or another Galwantype conflagration, a ‘worst-case scenario’ is taking steady root in eastern
Ladakh.

C. SWAYAM (meaning ‘Self’) is a Hindi acronym that stands for “Study Webs of Active-Learning for Young Aspiring Minds” is an Indian
Massive open online course (MOOC) platform.

Column 2

D. Small businesses in India, already struggling amid the pandemic, are now having to repay mounting debt after a loan holiday.

E. It is an initiative launched by M.H.R.D [Government of India] under Digital India to give a coordinated stage and free entry to web
courses, covering all advanced education, High School and skill sector courses.

F. The Reserve Bank of India gave borrowers a six-month freeze on their loan repayments.

1.A-D

2.B-D

3.C-E

4.C-F

5.None of these

Q:10 Column 1

A. Should COVID-19 outbreaks persist, should restrictions on movement be extended or reintroduced.

B. The loss of protective ice cover means air temperatures are much warmer over land.

C. The heartbreaking reality is that many people die yearly in India from drinking unclean water.

Column 2

D. One of the dangerous effects of polar warming is the melting of permafrost - the hard, ice-packed ground covered with soil and
foliage.
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E. The Apple Watch already includes a heart monitor and a recent patent application.

F. Inadequate sanitation and the lack of clean water can spread diseases, which often impact children the most.

1.A-D

2.A-F

3.B-D

4.C-F

5.None of these

Q:11 Column 1

A. Ensuring national security transcends strategic, military, diplomatic, economic, social and technological factors.

B. Also, 13 domestic mutual funds through a total of 30 schemes were allocated 36.46 percent of the total anchor investment portion.
C. The company’s MF clients include four of the five largest mutual funds and nine of the 15 largest mutual funds based on AAUM
during July 2020.

Column 2

D. The internal security situation remains grim with insurgencies, terrorism and Maoists acquiring dangerous proportions.

E. The death toll also increased to 85,619 after 1,247 fatalities were registered during the same period.

F. The ISA was announced in the midst of the 2015 Paris climate negotiations as a joint effort of the government of India and France.
1.A-D

2.A-F

3.B-D

4.C-E

5.None of these

Q:12 Column 1

A. After World war Il, the US learnt through an open-source that the Soviet Union had acquired nuclear weapons while its own
assessment was that it would take about 10 years to achieve that capability.

B. The digging out huge data available in open sources follows drawing linkages and contextualising it.
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C. India supports multilateralism in the United Nations Security Council and it is high time
Column 2

D. The influence operations are meticulously planned.

E. that the status quo should be changed and the reforms are introduced at the earliest.

F. The ‘cyber-led influence operations’ allow to address all the targets en masse and providing them with visual clips/ videos for effect.
1.A-D

2.B-F

3.C-E

4.A-D and C-F

5.None of these

Q:13 Column 1

A. Like other cephalopods, the octopus is bilaterally symmetric with two eyes and a beak,

B. The octopus is a soft-bodied, eight-limbed mollusk of the order Octopoda.

C. The soft body can rapidly alter its shape, enabling octopuses to squeeze through small gaps.
Column 2

D. Around 300 species are recoghized, and the order is grouped within the class Cephalopoda with squids, cuttlefish, and nautiloids.
E. but also towards yourself, then others will follow your example and do as you do.

F. with its mouth at the center point of the eight limbs.

1.C-E; B-D

2.B-F; A-D

3.A-E; C-F

4.B-D; A-F

5.None of these

Q:14 Column 1
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A. But the subject has been plagued with concerns.

B. The best way to tackle climate change may come naturally

C. But the conservation and sustainable management of nature are now recognized as the other critical pathway to a climate-positive
future, which

Column 2

D. on balance, benefits rather than damages the climate and can also help us protect biodiversity and water.

E. Land use have been a core part of the climate change debate for decades,

F. and for years, solutions have focused on clean energy technology, including electrifying transport and driving down the cost of wind
and solar power.

1.A-Eand B-D

2.B-Eand C-F

3.A-D and B-F

4.B-F and C-D

5.None of these

Q:15 Column 1

A. With the exception of the 1930s, most of the downside in past sell-offs had been complete by the time markets became this
extreme.

B. Many investors are still trying to work out the right time.

C. Bearishness remains in many corners of the market, as uncertainty continues to swirl

Column 2

D.To say that the stock market is now extremely oversold would be the understatement of the year.

E.To re-enter markets; at least one model from JPMorgan shows the correct time would be now.

F. Around the trajectory of the coronavirus pandemic and its potentially massive economic fallout.

1.A-E

2.B-Eand C-F

3.C-F
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4.A-F

5.None of these

Q:16 Column 1

A) | probably

B) His ability to talk in public

C) Leonardo and a legion of

Column 2

D) scholars have left a rich heritage for generations to come.
E) won't see you.

F) is one of his strong points.

1.B-E and C-F

2.A-Fand C-D

3.A-E, B-Fand C-D

4.B-F

5.None of the above

Q:17 Column 1

(A) The govt is setting up a bailout fund
(B) There is absolutely no liquidity

(C) The rankings are based on samples done in
Column 2

(D) the real estate market.

(E) for the real estate industry.

(F) Mumbai and Delhi only.

1.A-D

2.A-E

10
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3.C-F

4.A-E, C-F

5.C-E

Q:18 Column 1

A. Herd immunity is when a virus can no longer spread easily because enough people are immune to it.
B. People can become immune to certain viruses after surviving infection or being vaccinated.

C. Someone who's infected with a particular virus typically transmits it to two others.

Column 2

D. That lowers the chances of the virus jumping from person to person and reaching those who haven't been infected yet.
E. Typically, at least 70 percent of a population must be immune to achieve herd immunity.

F. The chances of that person passing it on to others would be lower if half the population is already immune.
1.C-D

2.B-F

3.A-E

4.A-D

5.None of these

Q:19 Column 1

(A) The verdict seems to have

(B) It asserts that secularism

(C) The judgement seem to give

Column 2

(D) provided a final resolution.

(E) priority to the maintenance of peace.

(F) enjoys treating all religions equally.

1.A-D

11
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2.B-F

3.A-D, B-F

4.B-E

5.A-D, CE

Q:20 Column 1

A. Bringing the best designs and exceptional power input, all in one car, BMW has been revolutionizing the whole concept of
automobiles since its inception.

B. Business desktops are essential for speed and productivity in a space - saving design.

C. With Unlock 1.0 in the country, our wish list has been increasing and so has our impatience, as we #JustCantWait to hit the road.
Column 2

D. Business monitors and on-the-go necessities can help you multitask without going overboard.

E. OPPO is all set to launch a first-of-its-kind initiative-"Salute to the Ultimate 120 with the Power of change”.

F. The campaign showcases these change-makers and ignites our thoughts towards a more empowered India.

1.C-D

2.A-F

3.B-D

4.A-E

5.None of these

Match The Column - Bank Moderate Level
Direction (1 to 20): In the following questions, two columns are given containing three sentences/phrases each. In the first

column sentences/phrases are A, B, and C, and in the second column sentences/phrases are D, E and F. A sentence/ phrase
from the first column may or may not connect with another sentence/phrase from the second column to make a
grammatically and contextually correct sentence. Each question has five options, four of which display the sequence(s) in
which the sentences/phrases can be joined to form a grammatically and contextually correct sentence. If none the given
options form a correct sentence after combination, mark option 5 i.e. “None of these” your answer.

Q:1 Column 1

12
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A. Facebook said it will extend its ad authorisation policy to cover publishers with political affiliations.

B. There are a number of world leaders, celebrities and not to mention, a lot of common people who are left-handed.

C. According to a Washington Post article, that quotes experts, around 10 percent of people worldwide are left-handed.

Column 2

D. Students at a number of schools in the Cherokee County School District in Georgia, including Hasty Elementary, have tested positive
for the coronavirus during the first week of school.

E. A suburban Atlanta county opened its schools amid controversy and a growing case count, previewing a difficult national back-to-
school season.

F. Under the policy, the platform publicly discloses who paid for an ad that has opinion-based content on social issues and elections.
1.B-D

2.A-F

3.C-E

4.C-D

5.None of these

Q:2 Column |

A) The world's only grass-eating monkeys are, in fact,

B) A few seconds later, the leopard suddenly stopped and looked around

C) Sprawling agriculture and nearly 100 million head of cows, sheep, and goats

Column i

D) and noticed my presence for the first time, squarely locking eyes with me for several heart-stopping moments

E) highly social and almost entirely vegetarian.

F) run and hide on massive cliff faces that can be a mile and a half away.

1.B-E and C-F
2.A-E,B-Fand C-D
3.A-Eand B-D
13
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4.B-F

5.None of these

Q:3 Columnl |

A. It affects every corner of our planet - from the poles to the tropics, and from the mountains to the oceans

B. Most importantly, we need to step up efforts to switch from using fossil fuels - the biggest cause of climate change - to clean,
renewable energy.

C. Governments and communities are coming together to act - and we can still escape the worst impacts of climate change, and build
a safer future for all.

Column i

D. People and nature worldwide are already feeling the effects: water supplies are shrinking, extreme weather events increasing in
frequency and intensity, forests burning, and coral reefs dying.

E. But we need to do more, and faster.

F. And we need to help people and nature adapt to the inevitable changes ahead

1.A,E-B,D

2B E-CD

3.AD-BF

4A F-BE

5.None of these

Q:4 Column |

A. Over the coming decades, global temperatures will continue to rise.

B. Since the industrial revolution, human actions have caused average global temperatures to rise by almost 1°C

C. Floods and storms, to droughts and heatwaves - bringing huge social and economic costs.

Column i

D. Levels of carbon dioxide and other heat-trapping greenhouse gases in the atmosphere are higher than they have been at any point
in human existence and are still increasing.

E. But we don't yet know how much and how fast will they rise.

F. Melting ice causing sea levels to rise, flooding coastal cities and whole island nations.

14
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1.B,D- AE

2.AD-BE

3.A F-BE

4.4.BE-CF

5.None of these

Q:5 Column |

A. We can also prepare for the impacts that will result from climate change - and help people and nature adapt to a warming world.
B. We have the technology to provide everyone on Earth with clean, renewable energy.

C. Protecting and restoring forests, and producing and consuming food more sustainably,

Columnlli

D. The shift away from fossil fuels has already begun.

E. And together, we can create a fossil-free future “ and give ourselves the best chance of averting climate catastrophe.

F. will also make a major contribution - while helping reverse the loss of nature at the same time.

1.AD-B F

2.AF-BD

3.BF-CD

4B E-CF

5.None of these

Q:6 Column |

A. In exercise of the power conferred by Section 35 of Wildlife (Protection) Act, 1972 as amended up to date, the Governor of Assam
declared its intention

B. I am 100 percent confident that this will not take months after months for changes to take place at the ground level.

C. To maintain transparency and accountability, we recorded the entire allotment proceedings and streamed it live on Facebook and
YouTube.

Column i

15
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1. With the idea now set to become a reality, Roy said he is very happy.

2. to constitute the area described in the Schedule annexed hereto as the Barak Bhuban Wildlife Sanctuary

3. experience and technical qualification in manufacturing medical devices which is why many firms were rejected in this scheme.
1.A-1

2.B-3

3.C3

4.A-2

5.C-1

Q:7 Column 1

A. Lastly, the government hopes that these reforms, including the relaxations to stocking food articles.

B. India has a lot of room to grow in this regard, and generate employment and income.

C. To reduce the number of people dying from COVID-19, researchers say,

Column 2

D. They have nudged farmers towards the production of key crops required for attaining basic self-sufficiency in foodgrains.
E. those most at risk of exposure or severe infection will need to be immunized first.

F. Another way of understanding the plight of the farmers relative to the rest of the economy.

1.C-E

2.B-D

3.A-F

4.A-Fand C-D

5.None of these

Q:8 Column 1

A. Every other sector of the economy has declined sharply.

B. Indian drug companies are major manufacturers of vaccines distributed worldwide, particularly those for low-income countries,

16
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C. Construction by 50.3 per cent; and Trade, Hotels, Transport and Communications by 47.0 per cent.

Column 2

D. What we have is an economic tragedy.

E. The total stimulus package (liquidity and fiscal measures) for G20 countries averaged 12.1 per cent of GDP.

F. supplying more than 60% of vaccines supplied to the developing world.

1.A-D

2.A-F

3.B-F

4.C-D

5.None of these

Q:9 Column 1

A. Around 4,000 CHV workers associated with BMC were paid a measly Rs 5,000 per month, which was recently increased to Rs 9,000
following protests.

B. The issuing of the joint statement was somewhat unusually accompanied by separate press statements.

C. Foreign-exchange reserves act as the first line of defense for India in case of economic slowdown, but the acquisition of reserves has
its own costs.

Column 2

D. The continuing rounds of talks should be aimed sincerely at disengagement.

E. It reserves to facilitate external trade and payment and promote orderly development and maintenance of foreign exchange market
in India.

F. As per our calculations, Rs 100 crore as arrears from mid of 2016 to 2020 should be paid to these CHVs..

1.A-D and C-E

2.C-E

3.B-F

4.A-F

5.None of these
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Q:10 Column 1

A. Beyond the narrow focus on economic revival.

B. The National Nutrition Mission (NNM), also known as the POSHAN Abhiyan

C. The online courses and classes are being conducted through various e-learning platforms, PM eVIDYA, Diksha, TV channels, CBSE
Podcast- ShikshaVani, radio, community radio.

Column 2

D. However, there is a prevalent concern with direct cash transfers that the beneficiaries might whisk away the money on non-
essentials like alcohol.

E. In five years of the Abhiyan, as per government records, rural sanitation coverage has gone from 38.7 percent.

F. aims to reduce stunting, underweight and low birth weight each by 2 percent per annum; and anaemia among children, adolescent
girls and women, each by 3 percent per annum by 2022.

1.A-D

2.B-E

3.B-F

4.A-D and C-E

5.None of these

Q:11 Column 1

A. We all remember the tragic fires in Australia, cyclone Idai, earthquakes in Turkey, and other horrible circumstances of global
warming.

B. Coronavirus is akin to several other pathogens that cause flu-like symptoms.

C. Their belief in the established legal system is subverted.

Column 2

D. They are overtaken by several emotional problems like anger, aggression, depression, loneliness, insecurity and feelings of guilt.
E. But the virus grafts itself on to human cells, making the task for the immune system more challenging.

F. The proposed relaxations are, hence, a step forward.

1.A-D
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2.B-D

3.B-E

4.C-F

5.None of these

Q:12 Column 1

A. The disparities are glaring among different economic strata as well.

B. Atmanirbhar Bharat Self-reliant India) is the vision of the Prime Minister of India Narendra Modi of making India a self-reliant nation.
C. In today's milieu, net access is critical, considering that even where mobile phones and laptops are available — some States provide
them under student welfare programmes.

Column 2

D. Its proponents have said that this self-reliant policy does not aim to be protectionist in nature; the Finance Minister said, “self-reliant
India does not mean cutting off from rest of the world.”

E. Such efforts have been launched globally in the wake of COVID-19.

F. On the network technology front, a new gigabit speed ‘wireless fibre’' standard is being viewed in developed countries as a leapfrog
option to link inaccessible areas.

1.A-D

2.A-F

3.B-D

4.C-F

5.None of These

Q:13 Column 1

A. It may be early to talk about results in numbers, but a six-week nationwide lockdown to facilitate effective physical distancing

B. Under the previous environmental regulation regime, public hearings emerged as an important platform

C. Despite hige and multiple challenges, India has been demonstrating unwavering commitment in its fight against the pandemic
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Column 2

D. For rural and local communities to voice their opinion on projects coming up in their areas

E. Microplastic pollution causes significant damage to populations of soil-dwelling mites, larvae and other tiny creatures that maintain
the fertility of the land, research has found.

F. It also found that the bird was evidently evolving preference for agricultural and rural landscapes

1.B-D

2.C-F

3.C-E

4.A-E

5.None of these

Q:14 Column 1

A. The outbreak of Covid-19 reinforces the need for solidarity and cooperation at all levels, not just among ASEAN member states but
also with its external partners. The theme “Cohesive and Responsive” under Vietnam’'s ASEAN Chairmanship this year has gained added
significance following this outbreak.

B. It is a game-changer for international peace and security”, he spelled out.

C. The pandemic has highlighted vulnerabilities to emerging threats such as bioterrorism and cyber-attacks on critical infrastructure.
Column 2

D. The COVID-19 pandemic will disproportionately affect women and push 47 million more women and girls into extreme poverty by
2021

E. To address the challenges posed by Covid-19, Asean must adhere to three key elements, namely, unwavering solidarity, strong
political will and good governance.

F. The projections show that while the pandemic will impact global poverty generally.

1.B-D

2.C-F

3.A-E

4.A-E and C-F

20

FORoW s a1 Address : 1997, Mukherjee Nagar, 110009 Downioad the App
y - N Email * anlinamidcammniic oare


https://study.kdcampus.live/english-language/match-the-column-60-difficulty-wise-mcqs-with-solutions

5 STUDY CONTENTS THAT GET You seLecTED  FREE
1@.Y iV Ry e ST egemee . D

selection focused courses. In the industry to get every bit out of the videos

Match The Column - 60 Difficulty Wise MCQs with Solutions

5.None of these

Q:15 Column 1

A. An educated person is more likely to develop better moral and ethical values as compared to an uneducated person

B. Biosphere reserves are areas of terrestrial and coastal ecosystems promoting solutions to reconcile the condervation of biodiversity
with its sustainable use

C. Lack of education creates problems like superstition, domestic violence, poor health, and poor living standards

Column 2

D. Itis the world’s 17th largest desert and the world's 9th largest subtropical desert

E. The Thar Desert, also known as the Great Indian Desert, is a large arid region in the northwestern part of the Indian subcontinent

F. They are internationally recognized, nominated by national governments, and remain under the sovereign jurisdiction of the states
where they are located

1.A-E

2.C-D

3.B-D

4.B-F

5.None of these

Q:16 Column 1

A. Global warming is the long-term heating of Earth’s climate system observed since the pre-industrial period (between 1850 and 1900)
due to human activities, primarily fossil fuel burning, which increases heat-trapping hreenhouse has levels in Earth’s atmosphere

B. Collectively, global warming and its effects are known as climate change

C. The ozozne layer or ozone shield is a region of Earth’s stratosphere that absorbs most of the Sun’s ultraviolet radiation

Column 2

D. Veganism is the practice of abstaining from the use of animal products, particularly in diet, and an associated philosophy that rejects
the commodity status of animals

E. It consists a high concentration of ozone in relation to other parts of the atmosphere, although still small in relation to other gases in
the stratosphere
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F. An individual who follows the diet or philosophy is known as a vegan

1.C-E

2.D-F

3.A-E

4.B-D

5.None of these

Q:17 Column 1

A. The government has acknowledged that the country can move forward and can develop when the life of an honest taxpayer is made
easy.

B. The announcement by the Government of India on the “Transparent Taxation - Honouring the Honest"

C. The objective of the platform is to achieve Faceless Assessment, Faceless Appeal and implement Taxpayer’s Charter.
Column 2

D. This scheme is in the direction of making assesses' life easy in many aspects of taxpaying.

E. is an extension of the E-assessment scheme 2019 launched by the Government of India in September 2019.

F. Whereas, Faceless Assessment and Taxpayer's Charter is implemented with immediate effect, the Faceless Appeal will be effective
from 25th September 2020.

1.A-E

2.B-D

3.C-E

4.A-F

5.None of these

Q:18 Column 1

A. Siemens has been bringing in new electronic products

B. Mutual support during the time of Covid has resulted

C. A partenership between India

Column 2
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D. in better trade relation between India and Saudi Arabia

E. to short up their sale for the current financial year

F. and Saudi Arabia are flying on the rocket

1.A-E only

2.B-D only

3.A-F

4.Both A-E and B-D

5.None of these

Q:19 Column |

A. To grab the attention of the audience you have to show some realism, you have to show some emotion,
B. He defines his work as speculative fiction although he does not shy away from writing conventional
C. For thousands of visitors each day, Disneyland and Walt Disney World are fantasy destinations,
Column i

1. set a lineup for each week of play.

2. otherwise you're just showing off and nowadays audiences can tell when they are being duped.
3. cards for almost any occasion, including handfastings and pagan festivals.

1.A-1

2.B-3

3.C-2

4.B-2

5.A-2

Q:20 Column |l

A. Although false eyelashes can be a little tricky to apply,

B. Learning how and why to embellish this versatile medium can add

C. If you took a trip to Japan, this can be a great way to add some
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Column i

1. acid-free markers to give the shells a little extra detail.

2. they are fun to wear and add a distinctive dimension to your appearance on those extra special occasions.
3. and create a focal point when included in a flowerbed or near an entry.

1.A-1

2.B-2

3.C3

4.A-2

5.C-1

Match The Column - Bank Hard Level
Direction (1 to 4): In the following questions, two columns are given containing three sentences/phrases each. A

sentence/phrase from the first column may or may not connect with another sentence/phrase from the second column to
make a grammatically and contextually correct sentence. Each question has five options, four of which display the
sequence(s) in which the sentences/phrases can be joined to form a grammatically and contextually correct sentence. If none
of the options given forms a correct sentence after combination, mark option (5), i.e. “None of these” your answer.

Q:1 Column 1

A. Chanakya was a great security thinker of ancient India,

B. They can also create violence by placing highly inflammatory speeches or doctored videos.

C. China was first to map the contours of ‘Hybrid Warfare'.

Column 2

D. Dragon knows the value of influence operations.

E. The meeting at the political level should serve, it is to be hoped, at least to prevent further escalation of the stand-off into active

hostilities.
F. who provided pragmatic solutions to protect the State.
1.A-D
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2.A-F

3.B-D

4.C-E

5.None of these

Q:2 Column 1

A) This is a straightforward article to discuss the real issues concerning stubble burning, including

B) It is more than likely that self-interest and the profit motive, not Marxist principles, are the cause of this enforced benevolence in
China'’s tech capital

C) The easiest and affordable solution is to modify the Combine Harvester itself. We can redesign

Column 2

D) its contribution to pollution in Delhi-NCR, and why the solutions promoted by the government are not working.
E) however un-Marxian in its motivations, isn’t a bad idea.

F) the Combine to cut the paddy straw from the plant's base to remove the stem.

1.B-F, C-E

2.A-D, B-F

3.B-E, C-F

4.A-D, C-F

5.None of these

Q:3 Column 1

A. The good news is we've also seen what's working. WWF has been part of successful wildlife recovery stories

B. But our work is far from done. Humans are behind the current rate of species extinction, which

C. For nearly 60 years, we have made it our mission to find solutions that save the marvellous

Column 2

D. array of life on our planet by applying the best science available and working closely with communities

E. ranging from southern Africa’s black ehino to blackbucks in the Himalayas

F. at leastis 100-1000 times higher than nature intended. We've seen an astonishing 60% decline in the size of populations of
mammals, birds, fish, reptiles, and amphibians in just over 40 years
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1.A-E; B-D

2.B-D; A-F

3.A-D; B-F

4.C-D; B-F

5.None of these

Q:4 Column 1

A. This is despite a single GST @12% recommended by the Dr Kelkar committee or even the three rates regimes

B. GST is a single nationwide tax that subsumes within it more than a dozen taxes of the pre-GST era, hamely central excise duty (CED),
service tax, value-added tax (VAT) besides a host of local taxes such as octroi, purchase tax, turnover tax, etc.

C. Each state was free to impose as many taxes and fix the rate for each item as it wished.

Column 2

D. 12%, 17-18% and 40% — recommended by then chief economic adviser (CEA) Arvind Subramanian.

E. as the old regime was afflicted with several anomalies.

F. This not only resulted in the multiplicity of taxes but also vast variation in the rate across states.

1.A-E

2.B-D; A-F

3.C-F, A-E

4.A-D

5.None of these

Direction (5 to 6): In the following questions three columns are given containing three sentences/phrases each. In the first
column, sentence /phrases are A, B and C, in the second column, sentence/phrases are D,E and F and in the third column,
sentence/phrases are G,H and I. Match the sentence from column 1 with those in columns 2 and 3 and find out which of the
following triplets given in the option make contextually and grammatically correct sense.

Q:5 Column 1

A. Anyone who was shocked when Tarrant County Judge Glen Whitley

B. In other trading Monday, US benchmark crude oil picked up 11 cents to $86.90
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C. Thanks to the swift development of increasingly powerful technologies
Column 2

D. became an office manager and bookkeeper

E. a barrel in electronic trading on the New York Mercantile Exchange

F. stepped out in favor of Democrat Mike Collier in the race

Column 3

G. been able to play mediocre tennis into my seventies.

H. Fossil fuels, too, would be largely phased out.

. for lieutenant governor hasn't been listening to the Hurst Republican.
1.CFI

2.BEG

3.AFI

4.CDI

5.None of the above

Q:6 Column 1

A. In Elizabeth's seven decades, the former British Empire evolved into a
B. Climate change would be slowed by the

C. O'Rourke’s position is far more permissive than

Column 2

D. Abbott’s, with a plan to fully decriminalize marijuana

E. after a brief journalism apprenticeship

F. set foot behind the weakening wall of communism tonight

Column 3

G. new millennium’s third decade, the scenario perdicted

H. 52-nation commonwealth of independent states
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l. and expunge the criminal records of those arrested for possession

1.AEG

2.BDI

3.AFH

4.CDI

5.None of the above

Direction (7 to 20): In the following questions, two columns are given containing three sentences/phrases each. A
sentence/phrase from the first column may or may not connect with another sentence/phrase from the second column to
make a grammatically and contextually correct sentence. Each question has five options, four of which display 149 the
sequence(s) in which the sentences/phrases can be joined to form a grammatically and contextually correct sentence. If none
of the options given forms a correct sentence after combination, mark option (5), i.e. “None of these” your answer.

Q:7 Column 1

A. Global warming's and climate change’s impacts, many would contend, are not immediate, although most would probably concur, are
pervasive.

B. And while scientists all over the planet offer alternative energy essay topics and solutions,

C. Democracy allows everyone to participate in governance, and while it may bring down our pace of economic growth, it prioritizes
spreading the benefits of development among all.

Column 2

D. In the end, economic growth is only a means to progress and better standards of life.

E. Their belief in the established legal system is subverted.

F. The crisis of identity makes this age segment vulnerable to physical.

1.C-D

2.B-F

3.A-D

4.C-F

5.None of These

Q:8 Column 1
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A. The Kyoto Protocol operationalizes the United Nations Framework Convention on Climate Change by committing industrialized
countries to limit and reduce greenhouse gases (GHG) emissions in accordance with agreed individual targets.

B. In other words, India has chosen the righteous path, however cumbersome it may seem from time to time, which does not warrant a
comparison with China.

C. Healthier children would benefit more from education and grow up to healthier adults with higher earnings potential, encouraging
investment in education and productive capacity.

Column 2

D. The Convention itself only asks those countries to adopt policies and measures on mitigation and to report periodically.

E. A passenger from India can arrive in Hong Kong only if he or she has a COVID-19 negative certificate from a test done 72 hours.

F. Because of the different growth rates, the doubling times in states vary widely.

1.C-F

2.B-D

3.B-F

4.A-D

5.None of these

Q:9 Column 1

A. This target, reflecting enhanced ambition, follows the one set in 2011 to link panchayats through a national optical fibre network.
B. Other opposition members spoke about how India had enacted policies and built companies since its creation to make India self-
reliant.

C. The race to a vaccine is a relay — at every stage, there are people passing on the baton, and it's the government'’s responsibility to
grasp it at the last mile.

Column 2

D. Whether or not a vaccine for COVID-19 is around the corner, it is imperative that a vaccine policy is formulated for India, ensuring
parity of access for all.

E. With Government of China’s customs data showing that Chinese exports to India had fallen by 25%.
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F. What happened in technology, a lot of trends that were already existing just got really sped up in this year.

1.C-D

2.A-F

3.B-D

4.A-D

5.None of These

Q:10 Column 1

A. We must understand that Hindi is not the ‘national language’ of India

B. Extent of government regulation of financial services.

C. Degree of state intervention in banks and other financial firms through direct and indirect ownership.

Column 2

D. How free is a country from a tax burden. It comprises three quantitative measures: top marginal tax rate of both individual (1) and
corporate (2) income, and total tax burden as a percentage of GDP

E. But only the ‘official language’ of the central government.

F. Plus the labor force participation rate as an indicative measure of employment opportunities in the labor market.
1.A-E

2.A-F

3.B-D

4.C-E

5.None of these

Q:11 Column 1

A. Many have felt a strengthened connection to their local neighbours and local environments.

B. But we also know that if we don't put a spotlight on it, then nothing’s going to change.

C. Human beings have been contracting such diseases for 12,000 years now but something has changed in recent times.
Column 2

D. These things are not surprising or new - our basic needs have always been there.
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E. Human greed has led to unprecedented loss of forest land over the last two decades, forcing animals and human beings into closer
contact than ever before.

F. The world is, thus, faced with the prospect of losing indispensable developmental progress that it has achieved over the last few
decades.

1.A-D

2.B-E

3.C-E

4.A-D and C-E

5.None of these

Q:12 Column 1

AThe correlation between global warming - which includes an increase in sea-surface temperature (SST), an increase in air
temperature.

B. Access to education, for instance, is becoming more challenging for children from poorer households. 150

C. The children from poor households that will lose out on vital access to education as long as the pandemic continues will hardly see
an improvement in their conditions after that.

Column 2

D. This is happening despite persistent warning that if we do not desist, many other pandemics of this nature will follow.

E. Sea level rise - and increased frequency, as well as the intensity of tropical cyclone, is a complex one.

F. Another danger lurks in the Arabian Sea. The sea is by no means seismically inactive.

1.A-E

2.C-F

3.B-Eand C-F

4.C-D

5.None of these

Q:13 Column 1

A. The coronavirus pandemic has significantly weakened India’s growth outlook for this year

B. The elderly and those with underlying health problems are at the highest risk of death
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C. Economic recession because of city lockdown, panic purchasing, and even criminals basing on racism
Column 2

D. and exposed the challenges associated with a high public-debt burden.

E. Donald Trump publicly referred to the coronavirus as “the Chinese virus”.

F. the pandemic, according to Patel, has put the spotlight on mental health issues in two ways.

1.A-F

2.B-D

3.C-F

4.A-D

5.None of these

Q:14 Column 1

A. There can even be covert coronavirus infectious testing positive but showing no symptoms

B. Such as metal, glass, or plastic

C. Itis unfortunate timing, coming just months after Inadian policymakers embarked on

Column 2

D. The elderly and those with underlying health problems are at the highest risk of death

E. A fresh drive to open the country’s bond markets to global investors, but adds to a list of issues stacking up
F. Countries like the UK, Italy, and India are on lockdown while China is beginning to reverse domestic lockdown
1.C-E

2.Both A-D and B-F

3.B-D

4.Both C-E and A-D

5.None of these

Q:15 Column 1

A. These are called “silent carriers” with the probability to spread the virus
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B. Currently, there are no specific treatments. Most infected people relying on individual immunity will recover without a special recipe
C. A ceasefire line is established in January 1949

Column 2

D. Nonetheless, two decades after the first WPS Resolution, little has been done to advance a gender perspective of climate and
conflict issues together

E. There can even be covert coronavirus infectious testing positive but showing no symptoms

F. The elderly and those with underlying health problems are at the highest risk of death

1.A-E

2.B-F

3.B-D and C-E

4.B-E and A-F

5.None of these

Q:16 Column 1

A. The country’s largest cement manufacturer by revenue and capacity was also able to strengthen its balance sheet through the sale
of non-core assets.

B. In the coming quarters, the demand from central, eastern, and some parts of northern markets is expected to be stable, helped by
rising rural cash flows. Ultratech stands to benefit given its deep rural presence and a strong network of over 95,000 dealers.

C. Now that the government has given the go-ahead to “unlockdowns”, there is a need to include education in the list of essential
services, not strictly in terms of re-opening educational institutions but coming up with appropriate notech and low-tech solutions.
Column 2

D. This will ensure that the spirit of the Right to Education Act, 2009 is alive — bringing education to children if children cannot come to
the educational institutions themselves.

E. In all probability, Nifty has resumed its move to test the upper trend line of the rising channel, where it has been moving for some
time now.

F. The Index currently trades above all its key moving averages.
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1.A-D

2.B-F

3.C-D

4.C-E

5.None of these

Q:17 Column 1

A. A cooked mid-day meal, though measly, is a right that India’s children have gained from the highest judicial intervention in routine
schooling.

B. Only 4.4 percent of rural households and 23.4 percent of urban households have access to computers.

C. In his popular lecture series, The School and Society, the American philosopher and education reformer John Dewey said, “the chief
difference between savagery and civilization is not in the naked nature which each faces, but social heredity and social medium”.
Column 2

D. Rising rural demand backed by higher income augurs well for the company which has a strong presence across the country.

E. The coronavirus has disrupted this routine, even in villages where no outbreak has yet been detected.

F. Promoter group companies Hinduja Capital Ltd and Indusind International will together invest Rs 792 crore in the bank to maintain
their 15% holding in the bank.

1.A-F

2.B-D

3.C-F

4.A-E

5.None of these

Q:18 Column 1

A. DigiLocker provides an account in the cloud to every Aadhaar holder to access authentic documents/certificates such as driving
license, vehicle registration, academic mark sheet in digital format from the original issuers of these certificates.

B. By late evening, the Health Ministry said, more than 70 people were dead and at least 3,000 wounded in the worst carnage to hit the
city in more than a decade.
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C. More recently, the number of new coronavirus cases has begun to rise quickly.

Column 2

D. Pharmaceutical companies leading the race to develop a vaccine have been promising to deliver their product by early next year, if
not earlier.

E. It also provides 1GB storage space to each account to upload scanned copies of legacy documents.

F. But this is not the first time that the WHO has sought to temper the excitement with regard to a Coronavirus vaccine.

1.A-C

2.A-E

3.B-D

4.C-F

5.None of these

Q:19 Column 1

A. A CPlis a statistical estimate constructed using the prices of a sample of representative items whose prices are collected periodically.
B. These include the service provided by rented accommodation, which can readily be priced and the similar services yielded by a flat
or house owned by the consumer who occupies it.

C. SWAYAM is an initiative launched by the Ministry of Human Resource Development, Government of India under Digital India to give a
coordinated stage and free entry to web courses, covering all advanced education, High School, and skill sector courses. It was
launched on 9th July 2017 by the Honorable President of India.

Column 2

D. The platform offers free access to everyone and hosts courses from class 9 till post-graduation.

E. The WHO was born during the moment of hopeful internationalism that followed the chaos of the second world war.

F. With surveillance not being commendable, the 10.3% test positivity rate nationally in the last few days shows that a very large pool of
infections remains undiagnosed.

1.A-D

2.A-F

3.B-F
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4.C-D

5.None of these

Q:20 Column 1

A. The damage to our planet by environmental pollution has been a hot topic of discussion for decades.

B. The rush to compress timelines, in itself, is no guarantee that a workable vaccine or reliable drug will emerge any faster.

C. The steep fall in domestic energy demand driven by the COVID-19 pandemic has impacted India’s oil refining sector amid an oil price
war and a severely stressed global petro-order.

Column 2

D. The “we and they” being instilled in young minds is a terrible form of mental pollution.

E. Children require a happy and congenial environment when they are growing up, not fear and hatred.

F. There are, however, equally serious if not greater dangers which no one talks about — the consequences of the pollution of minds,
especially those of the young.

1.A-F

2.B-D

3.B-F

4.C-D

5.None of these

Match The Column - Solutions of Bank Easy Level Questions
Q:1 (3) All the sentences of this question seem to be of different paragraphs. The first sentence of the paragraph is ‘A. This sentence

talks about women are struggling more as compare to men and this statement has been continued in the sentence ‘D’. The next
sentence in that order is ‘C’ that mentions that the government should be built an economic connection with Bangladesh which is
continued in sentence ‘F.

Q:2 (2) Statement ‘B’ seems to be in conjunction with the statement “F” as “F” depicts the ministry, and according to it, the total number
of cases on Friday stood at 724 where “B" states about what exactly the Ministry said.

Q:3 (5) A pairs with E as they refer to China's economic growth. B pairs with F as they talk about power production. C and D do not
make a pair though they are individually grammatically and contextually correct.
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Q:4 (4) The first sentence of the paragraph is “A. The sentence talks about a bookselling association teaming up with an advertising
agency, The other half of this sentence is mentioned in ‘F. The next sentence in that order is ‘C’ which is continued in the sentence 'D".
Q:5 (3) The first sentence of the paragraph is “A. The sentence talks about wildfire threat intensifying across California, The other half of
this sentence is mentioned in ‘D’. The next sentence in that order is ‘C' which is continued in the sentence ‘E'.

Q:6 (4) The first sentence of the paragraph is “A”. The sentence talks about entities being awarded for their work in elaborating on a
disease. The other half of this sentence is mentioned in ‘D’. The next sentence in that order is ‘B’ which is continued in the sentence ‘E'.
Q:7 (3) The first sentence of the paragraph is “A". The sentence talks about the facts of a crocodile and its eating habits. The other half
of this sentence is mentioned in ‘F. The next sentence in that order is ‘C’ which is continued in the sentence ‘E'.

Q:8 (3) The first sentence of the paragraph is ‘B'. This sentence talks about a statement given by the CDC which has been continued in
the sentence ‘D'. The next sentence in that order is ‘C’ that mentions a piece of past information before the statement made by the CDC
which is continued in sentence ‘F.

Q:9 (3) Statement “C" seems to be in conjunction with “E” as both seem to be stating about SWAYAM initiative. The remaining
statements are not in sync with each other.

Q:10 (4) Statement “C” seems to be in conjunction with “F” as both seem to be stating about sanitation and clean water conditions in
India and the resulting deaths. The remaining statements are not in sync with each other.

Q:11 (1) Statement “A” seems to be in conjunction with “D” as both seems to be stating about ensuring national security system. The
remaining statements are not in sync with each other.

Q:12 (3) Statement “C" seems to be in conjunction with “E” as both seem to be stating about the United Nations Security Council and
that the reforms to be made as soon as possible. The remaining statements are not in sync with each other.

Q:13 (4) The first sentence of the paragraph is ‘B'. This sentence talks about the physical details of an octopus. The other half of this
sentence is mentioned in ‘D". The next sentence in that order is ‘A’ which is continued in sentence ‘F'.

Q:14 (4) Among the given options, phrase B-F and C-D make a contextually meaningful sentence after combination as phrase “F” seems
to give clues on what phrase “B” seems to denote. Likewise, phrase “C" seems to be in conjunction with phrase “D” among the
remaining phrases.

Q:15 (2) Statement E seems to be in conjunction with statement “B” as “B" depicts investors trying to work out where “E” states about
the right time. Likewise, statement F seems to be in continuation after statement “C” as the remaining options seem to make
contextual mistakes.
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Q:16 (3) Negative word cannot be used before probably, they are used after it. So, A-E are connected.Ability of someone to do
something is a strength of someone. So, B-F are connected. 153 C-D are connected, because words like scholars and legion makes a
connection here.

Q:17 (4) ‘In’ represents a bigger place so ‘C' goes with ‘F. A fund is allocated ‘for’ something so A goes with E.D does not connect with
any of the sentences.

Q:18 (4) The sentence ‘A’ of column 1 talks about the definition of herd immunity. The sentence from column 2 that completes and tells
further defining the herd immunity is ‘D". So, the correct match is A-D. After going through the options, we find that only pair A-D has
been provided in option 4.

Q:19 (3) ‘Have' is followed by V3 only. ‘Secularism’ needs a singular subject. Judgement also needs a singular subject. ‘C' is an incorrect
sentence so, it cannot be paired with any other sentences.

Q:20 (3) Statement “B” seems to be an introductory sentence and “D” seems to follow this by showing conjunction as well as
congruency with the first. Both statements seem to revolve around smart business technology.

Match The Column - Solutions of Bank Moderate Level Questions
Q:1 (2) Statement “A” seems to be an introductory sentence and “F” seems to follow this by showing conjunction as well as congruency

with the first. Both statements seem to revolve around the regulations of Facebook.

Q:2 (3) The correct combination is both A-E and B-D. CF is incorrect as the subject ‘sprawling agriculture’ is not a physical entity capable
of running and hiding.

Q:3 (3) Among the given options, phrases A, D and B, F make a meaningful sentence both grammatically as well as contextually. The
other given options such as (A, E- B, D),(B,E-C, D), and (A,F- B,E) are incorrect as these options lack contextual meaning.

Q:4 (1) B, D: Since the industrial revolution, human actions have caused average global temperatures to rise by almost 1°C. Levels of
carbon dioxide and other heat-trapping greenhouse gases in the atmosphere are higher than they have been at any point in human
existence and are still increasing. A, E: Over the coming decades, global temperatures will continue to rise. But we don't yet know how
much and how fast will they rise.

Q:5 (4) Among the given options, phrase B, E and C, F make a meaningful sentence both grammatically as well as contextually and
seem to be in conjunction with each other.

Q:6 (4) The correct match of sentence ‘A’ is Sentence ‘2’ as both of them are interdependent in terms of the context i.e. Wildlife. This
term has been mentioned in both the sentences and when connected, provides a meaningful sense to the sentence.
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Q:7 (1) Statement “C”" seems to be in conjunction with “E” as both seem to be stating about Researchers’ perspective on COVID-19 and
those most at risk of exposure or severe infection will need to be immunized first.

Q:8 (3) Statement “B” seems to be in conjunction with “F” as both seem to be stating about India's drug company supplies. The
remaining statements are not in sync with each other.

Q:9 (2) Statement “C" seems to be in conjunction with “E” as both seem to be stating about foreign exchange reserves.

Q:10 (3) Statement “B” seems to be in conjunction with “F" as both seem to be stating about POSHAN Abhiyan and its aim. The
remaining statements are not in sync with each other.

Q:11 (3) Statement “B” seems to provide instances to be connecting with statement “E” since both are stating about Coronavirus and
statement “E” seems to show contradiction to the first statement by stating about the virus that grafts itself on to human cells, making
the task for the immune system more challenging.

Q:12 (3) Statement “B” seems to be in conjunction with “D” as both seem to be stating about Atmanirbhar Bharat "Self-reliant India)
which is to make India a self-reliant nation.

Q:13 (1) Statement “B” seems to be in conjunction with “D” as both seem to be stating about the environmental regulation regime and
the statement ends with the word “For” where the second statement seems to show conjunction with its depiction “rural and local
communities to voice their opinion on projects coming up in their areas.” The remaining statements are not in sync with each other.
Q:14 (3) Statement “A” seems to be in conjunction with “E” as both seem to be stating about Asean Corporation where the second
statement seems to succeed. The remaining statements are not in sync with each other.

Q:15 (4) Statement “B” seems to be an introductory sentence and “F" seems to follow this by showing conjunction as well as
congruency with the first. Both statements seem to revolve around biosphere reserves.

Q:16 (1) Statement “C” seems to be an introductory sentence and “E” seems to follow this by showing conjunction as well as
congruency with the first. Both statements seem to revolve around the ozone layer.

Q:17 (5) The first sentence in the paragraph is part ‘B’ that talks about the latest announcement on taxpaying. This 154 statement is
completed by the sentence ‘E'. The next part ‘C’' talks about the objective of that platform. This sentence is completed in ‘F that tells
about the other side of the Faceless Assessment. Next part ‘A’ cites the statement and view of government on this scheme which is
completed in the sentence ‘D'. As none of the options match with the sentence matching.

Q:18 (4) Sentence A talks about a company which has been introducing new element. Sentence E talks about increase in sale of
current in particular financial year. Clearly, adjoining these using preposition to will make a contextually and grammatical correct
sentence. Sentence B talks about what mutual support has resulted in during the time of Covid. Sentence D talks about the result of
trade relations between India and Saudi Arabia.
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Q:19 (5) The correct match of sentence ‘A’ is Sentence ‘2’ as both of them are interdependent in terms of the context i.e. audience. The
first part of the sentence talks about the things that need to be done in order to grab the attention of audience. The second part of the
sentence cites the other side of the context.

Q:20 (4) The correct match of sentence ‘A’ is Sentence 2’ as both of them are interdependent in terms of the context i.e., false
eyelashes. The sentence when connected cites the advantages of having false eyelashes.

Match The Column - Solutions of Bank Hard Level Questions
Q:1 (2) Statement “A” seems to be in conjunction with “F” as both seem to be stating about Chanakya's pragmatic views. The remaining

statements are not in sync with each other

Q:2 (4) Sentence A talks about a straightforward article to discussing the issue. The sentence D from column 2 seems to be matching
with A as it's a concern about air pollution. Sentence C talks about modifying the Combine Harvester itself. The sentence F from
column 2 seems to be the match as it talks about the plant's base to remove the stem.

Q:3 (4) The first sentence of the paragraph is “C". The other half of this sentence is mentioned in ‘D’. The next sentence in that order is
‘B' which is continued in the sentence F.

Q:4 (4) Sentence A talks about the slabs recommended by Dr Kelkar committee. The last words are ‘three rates regime”. So, the most
coherent sentence from column 2 that seems to be its other half is 'D".

Q:5 (3) Statement “A” seems to be an introductory sentence which is followed by statement “F” from column 2 and statement “I" seems
to be the concluding part of the sentence.

Q:6 (4) Statement “C" seems to be an introductory sentence which is followed by statement “D” from column 2 and statement “I” seems
to be the concluding part of the sentence.

Q:7 (1) Statement “C”" seems to be in conjunction with “D” as both seem to be stating about democracy and economic growth. The
remaining statements are not in sync with each other.

Q:8 (4) Statement “A” seems to be in conjunction with “D” as both seem to be stating about the Kyoto Protocol convention where the
second statement seems to succeed. The remaining statements are not in sync with each other.

Q:9 (1) Statement “C" seems to be in conjunction with “D” as both seem to be stating about the vaccine for COVID-19 and it is
imperative that vaccine policy is formulated for India, ensuring parity of access for all.

Q:10 (1) Statement “A” seems to be in conjunction with “E"” as both seem to be stating about our National language. The remaining
statements are not in sync with each other. Hence, the correct answer is Option 1.

Q:11 (3) The statement C seems to provide directions and the statement “E” seems to give explanations for the same such as talking
about human beings and unprecedented disorders.
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Q:12 (1) The statement A seems to provide directions and the statement “E” seems to give explanations for the same such as talking
about all the global environmental issues.

Q:13 (4) Statement "A” seems to be an introductory sentence and “D" seems to follow this by showing conjunction as well as
congruency with the first. Here, the first statement seems to provide directions and the statement “D” seems to give explanations for
the same such as talking about all the global environmental issues.

Q:14 (1) Statement “C" seems to be an introductory sentence and “E” seems to follow this by showing conjunction as well as
congruency with the first. Hence, the correct answer will be option 1.

Q:15 (4) Statement “B” seems to be an introductory sentence and “E” seems to follow this by showing conjunction as well as
congruency with the first. Also, the statement “A” seems to be connecting with part “F” and altogether “B-E and A-F" seem to be making
a contextually meaningful statement.

Q:16 (3) Statement “C” seems to be an introductory sentence and “D” seems to follow this by showing conjunction as well as
congruency with the first. Both the statements seem to revolve around Education essential services.

Q:17 (4) Statement “A” seems to be an introductory sentence and “E” seems to follow this by showing conjunction as well as congruency
with the first. Both the statements seem to revolve around the Mid-day meal routine.

Q:18 (2) Statement “"A” seems to be an introductory sentence and “E” seems to follow this by showing conjunction as well as congruency
with the first. Both the statements seem to state about DIGILOCKER and its system.

Q:19 (4) Statement “C” seems to be an introductory sentence and “D” seems to follow this by showing conjunction as well as
congruency with the first. Both statements seem to revolve around SWAYAM and its system.

Q:20 (1) Statement “A” seems to be an introductory sentence and “F” seems to follow this by showing conjunction as well as congruency
with the first. Both statements seem to revolve around environmental pollution.

This article has provided you with a valuable resource for honing your grasp over the Match The Column chapter. You have how
practiced a carefully categorized collection of practice questions, ranging from easy to moderate to hard difficulty levels. The
categorization of questions by difficulty enables strategic preparation, offering you a chance to build a strong foundation and gradually
progress towards more challenging problems.

We invite you to share your thoughts and any doubts you may have in the comment section below. Additionally, we encourage you to
share your marks scored in the practice questions, as this can be a great way to gauge your progress and learn from your peers. Be
assured that KD Live is committed to providing more such blogs, complete with study materials and comprehensive coverage of
practice questions from every chapter of the English Language and Grammar section. Your success is our goal, and we wish you the
very best in your upcoming exams!
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